"el [GeV]

(1/Njet)dN/dp

Ratio to ATLAS

T

10

=

[EEY

0.5

7

I IIIIII_II_

000 GeV pp
LI I I I

Relative P, (track jets)

(S

m ATLAS
—A— Pythia 6.428 370
Pythia 6.428 atlas-csc
Pythia 6.428 d6t
Pythia 6.428 default
---¥-- Pythia 6.428 dw
—6— Pythia 6.428 p0

--G--

-— = --

| Sloftl QCD

IETTI MR |_|||||||| IR MW
mcplots.cern.ch [arXiv:1306.3436] Rivet 3.1.10, = 1.5M events

L

S AR " |
\ R e ST
1 AN e AT
N I e o VAR iy
- V) AT '/' - (7' v

N e
Ev o= ) &

GERAVE T

G2

Charged Particle |6Tel [GeV]

N

0.5



	Contents
	Page 1


